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There are 8 vases. Each vase has 3 white flowers and 3 orange flowers 
in it. What is the total number of flowers in all of the vases?

Name: 

Daily Word Problem

Show your work.

answer: ____________________

D-16 Operations Multi- 
Step
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There are 5 bags of gummy worms. Each bag has 50 worms in it. 
How many gummy worms are there in all?

Name: 

Daily Word Problem

Show your work.

D-17 Operations Single- 
Step

answer: ____________________



Super Teacher Worksheets - www.superteacherworksheets.com

Name: 
D-18 Place Value, 

Operations
Multi- 
Step

First use the digits in the box to create the largest 5-digit number 
possible.

Then use the digits in the box to create the smallest 5-digit num-
ber possible.

Find the difference between the two numbers.

Show your work.

answer: ____________________

Daily Word Problem

8       5       1       8       5
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Name: 

Daily Word Problem

D-19 Operations
Single- 

Step

Ohio has an area of 44,825 square miles. New York has an area of 
54,556 square miles. How much larger is New York than Ohio?

answer: ____________________

Show your work.
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Name: 
D-20 Operations Multi- 

Step

Dennis made three dozen picnic tables.
He painted 13 of them red, 15 blue, and the rest yellow. 
How many picnic tables did Dennis paint yellow?

Show your work.

answer: ____________________

Daily Word Problem



ANSWERS

Daily Word Problem

D-16 through D-20
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There are 8 vases. Each vase has 3 white flowers and 3 orange flowers 
in it. What is the total number of flowers in all of the vases?

Show your work.

answer: ____________________

There are 5 bags of gummy worms. Each bag has 50 worms in it. 
How many gummy worms are there in all?

Show your work.

answer: ____________________

First use the digits in the box to create the largest 5-digit number 
possible.

Then use the digits in the box to create the smallest 5-digit num-
ber possible.

Find the difference between the two numbers.

Show your work.

answer: ____________________

8       5       1       8       5

Ohio has an area of 44,825 square miles. New York has an area of 
54,556 square miles. How much larger is New York than Ohio?

answer: ____________________

Show your work.

Dennis made three dozen picnic tables.
He painted 13 of them red, 15 blue, and the rest yellow. 
How many picnic tables did Dennis paint yellow?

Show your work.

answer: ____________________

3 + 3 = 6

13 + 15 = 28

50 + 50 + 50 + 50 + 50 = 250

88,551
15,588

72,963

6 x 8 = 48 or 
50 x 5 = 250

48 flowers
250 gummy  
worms

88,551 -- 15,588 = 72,963

54,556 -- 44,825 = 9,731

36 -- 28 = 8

12 x 3 = 36

9,731 square miles 8 picnic tables


